PD-2-10

2

29

6

29




1.1

1.2
€))
@)
3)

e T
o U~ wWN R

2.1
2.2
€))
@)
2.3
2.4
€))
)
2.5

(1

(2)

2.6




3.1
3.2
3.3

3.4







(11) (24



2.5

)

1.4



T.P.

FRA(T P.m)

5.64m

2.5-1

120
100
80

60 |

40

20

00
-20
-40
-60
-80

0.16m

T.P. 6.0m

T.P.

5.64m

97 10 — 0.16m

T.P.

5.80m

2.5-1

30

60

90

120 150 180 210 240
Fh (5



T.P. 6.0m

T.P. 6.08m

T.P. 5.42m

T.P. 5.66m T.P. 6.0m

2.5-1



2.5-1

T.P.m

T.P.m

T.P.m

5.64

5.42
5.66

6.08

6.0

6.08

1.59

5.08

_- . -
_\T.P. 7.85m

T.P. 5.66m

6.0m

T.P.

5.64m

7.85m

T.P.

0.2m
0.31m

0.16m

0.81m

2011




T.P.

2,162m

HKAEL(T P.m)

AE(TPm]

2.

120
100

80

6.0

40
20

00
-20
-40
-6.0
-80

4 _9m
30
2,370m
T.P. 4.9m
3
5-2 2.5-2
2.5-3
/\ P“m r\¢mﬁjﬂk A A
N A AL N VAR
\fv ‘\, \ T.P. 4.9m
Al \ |
\ |
0 60 90 \20 150 180 210 240
ﬁﬁﬂ<j}
8 T.P. 4.9m
«——>
T.P. 5.64m T.P. 6.0m
B85 86 87 88 895 90 91 92 93 54 95 96 97 98 99 100
BN (50
2.5-2



2.5-2

(m h
) m h n
885.7 4
272.8 2 4,323 2,370
232.8 1
m - m h
2,370 m =4,323 m h
0.55 33
nonL
L3 [ 1 CCZ
Sole I ([T 9
t* s°"1) |r0in D) 3
Off 41 |FO10 D07
ol 11 [TD/E D] g
1T 20 N
ol 1 0Dl 8
ool 1! 100D
soll#| ro0T1 :
e

2.5-3






()

[1]



[1]

[3]

T.P.

T.P.

6.89m

)

T.P.

6.04m

4._.9m

[4] [5]

4 _1m

2.5-4

[2]

8.35m

0.8m



2.5-4

1998

2.72g cm 0.15mm

45, 376-380 1998

46 606-610 1999

-10

1999

2.5-




=)

& FEEAEERE oo Er B)
W O EREE(1sE1 )
¥ FEEERE co2E12 ) (g cm)
(T10(3 3700 T2 004 5107 ") 2 758 o1l
ERA) N2 2.760 0.12
"-H_ — -__ = g N3 2.755 0.13
-____ .mx;-m: N4 2.816 0.14
"“x_,r'm ol l N5 2.805 0.13
k| NG 2.733 0.12
N7 2.788 0.13
N8 2.752 0.11
N9 2.729 0.14
N10 2.703 0.16
] N11 2.681 0.11
NI2 2.703 0.11
N(2) 2.757 0.13
L 2.719 0.15
2 2.727 0.16
" T3 2.700 0.15
T4 2.680 0.18
5 2.694 0.17
6 2.685 0.14
7 2.699 0.13
8 2.666 0.31
T9 2.679 0.16
T10 2.670 0.18
2.72 0.15
2.5-5
0.33m 1999
1
4.1m
8.35m
2.5-3
0.36m 1999
1 2.5-4

-11



2.5-3

m
1 0.01
1998 5 0.01
1 0.33
1999
1 0.01
1998 5 0.01
1 0.19
1999
@ IZ [-c E
CN [
e | } i ;
-_‘_".I-'—— ! 'j?—_ !._,._ -\H- a —— "._‘-""'. L \_m
.'.-F;;I.J-'Ilﬁlm. I \\- _:’.;'I..*DI'DEJMI \\-
ﬁﬁﬁitlﬂﬁﬂﬂﬁgﬂidﬂ#m&} b i E e
T
=~ 08
0.6
04 0.33m
0.2 i
0.0
0 30 60 90 120 150 180 210 240
BFfE (59)
1999
2.5-4
1999 1
0.33m 0.36m

-12




T.P. 6.04m T.P. 7.85m

1.8m
T.P. 6.01m
T.P. 6.52m
1.06m 1.57m
0.028m
2.5-4
2.5-5
2.5-6
2.5-5
1999 1
m m
0.028 0.011

-13



€00°0 L1070
60070 G¢0°0
€00°0 81070
80070 G200
10070 ¢00°0
90070 17070
10070 ¢00°0
G00°0 €10°0
¥00°0 67070
17070 L2070
¥00°0 0¢0°0
07070 82070
10070 €00°0
800°0 €10°0
10070 €00°0
L0070 97070

6667

9-G7°¢

-14



[2]

3.7mm

2.5-6

2.5-7

-15



o

L
W

T

r -

2.5-7

[1]

0.15mm

-16



[3]

3.8 [1]

0.15mm

2.5-8 2.5-10 2.5-7

2.5-9

-17



A

6.8

,4.8

20.4

3.8

6.4mm

2.5-8

2.5-7

6.8

4.8

13.5

13.5

13.5

20.4

3.8

6.4

0.15

-18




A

13.6

9.0

6.4

2.5-9

2.5-8

13.6

13.6

9.0

13.6

6.4

0.15

-19




A

13.6

9.0

4.8

13.6

13.5

6.4

2.5-10

2.5-9

13.6

13.6

9.0

13.6

4.8

13.5

6.4

0.15

-20




[4]

3m

0.18m

2.5-11

-21

15m

T.P.

3m

T.P.



Yes
Yes

No

2.5-11

-22



37

2.5-12

35

-23

40

2.5-14

2.5-13



ExxEwmEnR |l
[ S 100mi T |
i

2.5-13

-24



Egomrene m o T PR

B e i e R i.ﬂ.q

ERee=renwnnrarap e et TrE

s <

= ‘E

= (=]

3 B
< ) ©
(9p] R ©

- s

B e T el a

P e e T T .“ ﬁ

itk B o
LR 0.4 AL bl _— ooem—

=

= m

.m Eil

% 7]

b4

Lo o o
™ < -
(9p] ™ 10

[~

—=h

—=5. a5

14

2.5

36

33.5

-25



37

B e o e e T R

37.0 min,

—=5 (a5

38

e sy T S P R

3.0 min,

—=5.0a's

39

U= srsnsmrineniny e prers

36.5

36.5 min,

—=3.[m's

5

7

Tl i ot o

37.5 min,

—=5.0a's

8

5-14

2

39

36.5

-26



40

kot sty 2t 8

41

e et e ok

42

L e E e e

S
e L L
e N
B S By o T B e e [
e gy g i iy, . o o B B B i o [
e B R e R A A
e B e oy B i % % % K
i B iy i o, P B AR RN
B e P
T T Sy B, M
By o Y, S, Ty R  a w
i S
R S AL M
l...r.!.!—!.!._-.r_f_rz_f_.._
i i, e, e, e, T, B .
s i e S M N S
e T e e R
N ML )
oy e N N N
B T T R R R W
L WL MRS
o B B R R R R
T, R R R
T R S
T L R

42,0 min.

39.5

H 0 o Pt A A e PR

40.5

Al o £ L ¢

1

Lk L8 T L]

e e L L R
e e e i oy W e N R W W
A P W WL Y U R
e e ey i i i B B B B B

| e e R R R 4
S B i By iy i B iy Ty B B B B B L
e o, o e, S, Ty By W
NN N N pp——
o e ey ey T i By By B
P

| e e Sy | ]

iillIlill‘llllfll]l*’."fl'

41.5 min

5-14

2

42

39.5

=27



5km

0
o
©

90=

120=

,180<)

(5km

1 (3km,180°)

2.5-15

-28



2.5-16 90<=

A

C} 90<
90<=

E 120= 150<= 180<
Y= - -

2.5-16

-29



1km 90< 3572m 3.6km
3km 150< 3089m 3.1km
2.5-9 2.5-10
2.5-9
30<= 60<= 90<= 120<= 150<= 180<
1km 206m 510m 3572m 1275m 2099m 2278m
3km 170m 1131m 1772m 22m 1014m 1512m
5km 429m 572m 1575m 644m 610m 1422m
2.5-10
30< 60<= 90<= 120<= 150<= 180<=
1km 461m 792m 1449m 1268m 1155m 1710m
3km 445m 857m 1772m 1556m 3089m 10m
5km 1232m 1063m 1575m 1575m 1470m 1617m

-30




3.6km

5km

1.3-3

2.5-17 1km 90<

2.5-19

-31

2.5-18

3km 150<



T 0
o 10
g i) J\ -":"‘\\F{J’"=--=-1‘____,_ s S-_—
¥ -0
0 60 90 120 150 180 20 240
B0 (4)
1.6m s
8
= 6
24 =
ﬂ—l? -
52 A7 AL P —- L
o 60 30 120 150 180 210 240
B (%)
37.2
] | [
| |
0 30 60 30 120 150 180 200 40
BRACS)
Wﬂ‘—“ <—I—> 0=
0
N 37.2 R
45.0 82.2
>
37.2 =< 1.6m $><60 3572m |:> Bk
- 3.6km
2.5-17 1km 90<

-32




Fi (TPm)

= I - I

Vimssl

30 50 @0 120 150 180 210 40
BE s
5.2m s

3 A"W/

[HLVIVA' YN AL I A SN A ——
-ﬁf L v W P Fa
30 60 1] 120 150 180 210 M0

B C5)
9.9
| X
| |
30 [21] 30 120 150 180 210 0

9.9
90.0 99.9
>
9.9 < 5.2m sx=<60 3089m
- 3.1km
2.5-18 3km 150<

-33



TiaT ; TIiE

" -4 7 q < ' = L
- o 4 o)l % A .
- — it q ¥ = i ! : i
o = 3 o
R ] i -
5 = F ol
= TEL \ =
— +3 [ a ! il B
1 0 = - ..
= L & B 3 s
: - + : ¥ -
L - : ~ 7] .
1L '.'
T T b 8
r _..."'_\-h._ = - e 2
P R
by S 3 G
(o o
A1 ; '- -"'..'. %
L LT L
[
%
* = o
-_I . M
i = o a
il i Y S
. o
N
"
o i L %
L E ., 2L
(s : L
[ s
= A B
H “ i :
B a #
. -
-y o [ - . ey
=2 s 4t ! 13 < \
9 - - ry .
& I =
4 ' i
[ - % B
: -
" " .': -
b, r -
Egr = B o = x
iy k. It . -
R o e
# i : .
-y + & 5 "
T A - -k '
g K ; : :
=y Ch L n:i e
¥ 4] o
o ..-"_ & 4
& o H_ E r -
C ~ - 2 [ ~
e i
5 r - =
F) . g ! 4
T h b
o 5 N T
L P T e = i S

CRREE

2.5-19

-34



2.5-20 2.5-11



11N
%

AR g ERRNAN

i ERSNR AR

o
A

2.5-20

-36

™




0,73

Ry =

J\Eer T ) [==—= |
L=l
ﬂ - WH{/

™

2.5-20

-37



16

20

15

19

14

18

13

17

2.5-20

-38



2.5-20

-39






73

74

75

2.5-20




3000°€

16

3000°S

Wy

11-97¢

-42



UTT><WTZ><WET

WE ><Wg><Wg

UQT><WET><WOT

we><Wwed

WE >< WG > W

W e><UWTT><W8

Wg g><we g><Ue"c

11-97¢

-43



67

8T

LT

WOT><WGT><WOT 91
Wy >< WG><WOT ST
T
Wy >< W8 ><WgT €T
W, ><WeT >=<Wge 4"
UTT><WET ><Wye T
0T

WQT >< W8T ><wyy 6

11-97¢

-44



Wy >< WOy ><Wz " T

T¢

0¢

11-97¢

~45



WG T><Ww8 0><w9"0 9¢
S¢
ve
€¢

WE><WegT><W/ [44

11-G7°¢

-46



WG Z><WT ><WT 8¢
UG 0><wg 0>=<uWeg-0 LE
Uy T><Wwg8 0>=<Weg-"0 9€
w9 0><w9 0>=<w9-o0 G€
g g><uwg T><uWy 0 143

UG g><UuTdp €€

[43

WZg><WG 6><WTT T€

W8~ Ex<WT " y><uwg 0€

[<]

UG T><Ws " 0db 6¢

WZ><WG"T><Wg 8¢

Y4

11-G7°¢

-47



WG T><W9>Wwg T 4]
WG g><W8 0><WG"T 0€T 1§
WT>< WG E>=<WG"¢ T 0s
T 6%

Wg><wg-Q>Wwg 4 1514

T Ly

14

WZ><WT><WZ"T T 14
W9~0><Weg"0>=<Wg- 0 T 1474
WZ><WT><Wz"T T 1514
U9 0><uwg-0><uwg- o € 474
UG T><W8 " 0>=<Weg-0 T 144
WZ>Wwg o><wsg-0 4 oy
U9 0><uwg-0><uwg- o0 T 6€

11-97¢

-48



WE"0><W/ ><WT LT €9
We-0><W/ ><WT (014 29
WE ><WE > WT T 79
W9 >< W/ >< WG S 09
WG T><W9> W9 6S
Ug><wg- 0 € 89
WG 0><Wg><ug JAS]
We-o><wg><wg 99
W9 T><WG g><we T T S9
w9/ ><wo9 T 28]
Wy ><Wg><we T €§

11-97¢

~49



o)
4
v
T1-97¢
S.
W ><Wg>Wg9-Q T IZA
Wg 0><Wwg T>=We 1 9 €L
cL
TL
WT < Wy >< Wz T 0L
WT - 0><W8><WT 18 69
89
WT><W9><Wg"T T L9
wZ><uwe><uwe 99
WT><WT><WT T G99
UG T><WG T>x<We 4 9

11-G7°¢

-50



(b)

-51






-53




155

i : e =y 2.5-17

LNG
2.5-15

AN T 5 2.5-18
¥ & _ e
% o 2.5-12

2.5-13,14

2.5-16

2.5-12

-54



(@)

2.5-11




[5]

2.5-22

— =

2.5-22

g2

2011

-56

()



2.5-24

2.5-23

-57



2.5-23
.y .y
oy .y
Il ags
age 1l

2.5-24

-58




2.5-25

13

-59

37



IIIIIIIIIIIIII

2.5-25

-60



(©)

(b)
2.5-12

2.5-18

-61



2.5

2.5-26

©)



10¢ §

19

G€

¢1-97¢

-63



0s€

¢1-97¢

~64



11-67°¢

00¢

00S€

¢1-97¢

-65



€1-97¢

-66



€1-97¢

-67



11-97¢

€1-97¢

-68



v1-97¢

-69



11-97¢

v1-97¢

-70



G1-9°¢

-71



11-97¢

G1-9°¢

-72



G1-9°¢

-73



91-97¢

-74



91-97¢

-75



11-97¢

91-97¢

-76



L1-G97¢

77



11-97¢

L1-G97¢

-78



11-97¢

81-97¢

-79



10cm
240

B

-

ot
ds

P

.
A e

2.5-26

-80



(©)

@ (b)
T.P. 3.31m
T.P. 14.3m
2.5-19
17m 8m
42 .8m 10.35m 1 4.1m
8.35m 8
2.5-19 2.5-27
2.5-19
44t 17m>=< 8m 1

St 15t 14m=<  3m 1

14 3 5t 3 15t

-81



[5]

2.5-27

-82




2.5-28 2.5-29

-83



2.5-28

-84




B e

Gl

_\\_‘ |

W S TE EfiE (MhEL o)

AAS s b (BB

Frlud Frmt el Fai

e | e

2.5-29

1.5m s

1.5m s

-85



2.5-20

2.5-20 1.5m s
1.5m/s

0.5m 0.2m

0.5m 0.2m

1.5m 1.5m 124kN  156kN
1.5m 1.5m 84N/mm?  156N/mm?
1.5m 2 om 138kN  156kN
1.5m 2.0m 149N/mm?  156N/mm?

-86




2.

6

T.

T.

P.

P.

5m

64m

-87

T.

P.

2.

3m

6-1

T.

P.

29m,



2.

6-1

-88




T.

P.

2

2.3m

.6-1

T.

P.

5.

Om

T.P.

-89

20.0m

T.

2-6-2

P.

7.

8m



2.6-1

.6-2

T.P. 2.3m T.P. 20.0m

-90




3.

3

(1)

(a)

-91

3.

3-1

T.P.

29m

T.

P.

64m



(b)

()

-92



3.

3-1

-93




(a)

T.P.

T.P. 22.0m

T.P. 17.9m

20.0m

(b)

19.4m

~94

T.

P.

T.

P.

1

0.65m

2.5

3.31m

17.9m

.6

1.6

0.65m

T.

P.



3.3-1

3.3-2
3.3-1
44t 17m>= 8m 1
St 15t 14m> 3m 1
14 3 3t 3 15t

@ 400mm

-95



3.3-3

3.3-4

3.3-3

-96




@ 400mm 10mm

3.3-5

— E’PprEEE

3.3-5

-97



3.3-6

(2)

(a)
178mm><
360 T.P.
T.P. 29m 1

3.3-2

-98

285mm

64m 3




3.3-3 3.3-7
SIS
SR
3.3-3
3

-99




3.

3-7

3.

3-8

-100




(b)

.3-9

3

()

64m

T.P.

29m

T.P.

-101



3.

3-4

3.3-4

-102

1

.0




30cm

-103



(a)

-104

(40cm)

1454

30m/s

1P66

T.P.



19.4nm _P. 5.2nm
T.P 7.8m
2.3m
.3-5
3.3-3 3.3-4
3.3-5
2
T.P. 7.8m T.P. 2.3m
(b)

3.3-10

-105




T.P. 2.75m

3.3-10

(c)

3.3-6

-106




3.

3-6

-107

1.

0




3.

3-7

0.65m

T.P.

-108

22.0m

1)

T.

P.

19.4m



(a)

-109

3.3-7
T.P.m
m T.P.m T.P.m
19.19 19.4 0.65 20.05 22.0
0.18m
O
T.P. 4.9m
T.P. 17.9m
T.P. 5.0m T.P. 20.0m
3.3-8



3.3-5

3.3-6

3.3-8

2

T.P. 5.0m T.P. 20.0m

(b)

3.3-11

T.P. 3.31m ¥

PR N ]
= 4 o .

3.3-11

-110



(c)

3

3.

.3-9

3-9

-111




-112

(1)

1.

0



-113

o
T.P. 17.9m
0.65m
T.P. 20.0m
3.3-10
3.3-10
.m
m T.P.m Pom
17. 17.9 0.65 18.55 20.0
0.18m
o



3.4.2

2.5(2)

“4)

44t 15t

-114



T.P. 6.0m

T.P. 5.66m T.P. 4.9m

1n-1



(17)-2



T.P.

1.59m

T.P.

3.90m

T.P.

4.90
im

m

(17)-3




(17)-4



T.P. 5.11m ( 1)

T.P. 5.11m

(18)-1



5110mm(

T.P.

6010mm

T.P.

=
//ij

(1)

5110mm)

(T.P.

(18)-2



(2)

h“l:._,...:-'] Al

' II HLF (B
3 f YF42
WEH [HE

T r{ -
! /:'__};‘Q—_“i*[rm_ —_ R

ﬁm

C
=
/ - j__ ( _Jlg_
[ o -
=i
a8
‘ =
0
| -
| | BkEwt ] A=l
[ b /

£
=
-
-

885.7m /h

(18)-3



T.P. 5.66m

T.P. 5.66m

(18)-4



T.P. 6.04m 27m

(19)-1



(19)-2




30

T.P. 5.66m 3
T.P. 5.66m
3 30
2,162m 3.(D
Y
3.(2)
T.P. 4.9m 3.03)
No
3.(4)
Yes
3

(19)-3




D
1
4,323m h
30
2,162m
1
m h
1 T.P.m
T.P.m
5.42
886 3,544
5.66
2 273 546 6.08
6.0
1 233 233 6.08nm
47323 _5_66m
(2)
D 2,162m
4

(19)-4




0 e S

............................... /|

W

Ak

N ARNRBANNAR
[

—~ T
e f.../
- ~
~,
AY
- \
! AY
/
!
!
I
! £
! )
i S
! —
1
' g
\
\
A
\
AY
Y
AY
Ay
o
~
e
1
1
|
]
]
|
.
N ' !
I 1 S
\, N | | | L
AN ittt ———
A -
N TT 1T 1 P T T T T L L et

il

B TTHY
e o
I

®3)

)

2,162m

@

10

(19)-5



(19)-6




T.P. 4.9m

30
2
2
T.P. 5.66m
T.P. 4.80m | T.P. 4.90m | T.P. 5.00m
0.86m 0.76m 0.66m
3,334m
205m
g 2,690 m 2,378 m 2,065m
4,323m
N 37 33 28
4)
(3) T.P. 4.9m
2,378m
30 6
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m h S
2 886 .49
1 273 .08
1 233 .06
2,278 .63
2 886 .49
1 273 .08
2,045 .57
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11
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m h m h m s

3 74,200 | 222,600 61.83
2 2,838 5,676 1.58
2 886 1,772 0.49
4 186 744 0.21
2 220 440 0.12
231,232 64.23
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Dso 10%

0.10mm Dgq 1.8mm

1999 2
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0.15mm Dso
0.10mm D1o
1.8mm Dgo

N N
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2002 2
1998 1
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[())5? 15mm 0.33m
%l? 10mm 0.31m
Di(’_ g 0.13m
'(3)5? 15mm 0.19m
I(J)l? 10mm 0.18m
Di"_ amn 0.02m
1999 1

1 Dso 0.15mm
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Gvt D

0.02[wt 1)

Bl S am
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m s 5( 9.4 )
kPa 3.7

mm 0.15

[hr] 5

9.4 5
Ky
T1= 2
PVK,

Ki [mm kgf]
o [mm]
P [kgf mm ]
V [mm s]
T, o [s]
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0.02[wt ] Ki o 2.74>107"[mm kgf]
3[wt ] Ki w 4.64><10°[mm  kgf]
0.02[wt ] Ki o 9.41>10""[mm kgf]
3wt ] Ki 5.76><10°°[mm  kgf]
wWo: 0.02[wt ]
w 3 [wt ]
(0.02[wt ] 3[wt 1)
(0.02[wt 1)
Gt 1)
2 (0.02[wt ] 3[wt 1)
0.02
/ [kgf/mm2] [mm/s2] (sec) (hr)
/ 0.02% 00171 000037 9400 | __2.73145E-0 1012 1065263.158 295.9064327
/_0.02% 0.0589  0.00037 9400 |  9.40834E-07]  1.012 309269.9491 85.90831919
3
/ [kgf/mm2] [mm/s2] (sec) (hr)
/ 3% 05814 000037 9400 | __464347E-06| 1012 626625387 17.40626075
/ 3% 07201 000037 9400 |  5.75123E-06]  1.012  50592.9732 14.05360367
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(0.48[wt 1)

0.18[vol ]
2.72[g cm ] 0.48[wt ]
0.02wt 3wt
0.48[wt ]
200
3000ppm
w _ C_w]0.9
Wo Co
B 53
491 62-7 pp.2094~2098
0.02[wt ] 3[wt ]

0.48[wt ]
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k 1.64748><10 [mm kgf]

k 2.9662><10 [mm kgf]

3 49 27
3 (0.48wt )
0.48wt
/ [kgf/mm2] [mm/s2] (sec) (hr)
/ 0.48 0.00037 9400 1.64748E-06 1012 176616.1197 49.06003324
/ 0.48 0.00037 9400 2.9662E-06 1.012 98095.94829 27.24887453
3 4

(21)-6




(21)-7




(1999)

0.03[m
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(2002)

1,3,5[vol ]
1[vol ]

0.15[mm]

2.72[g

cm ]

[m hr]

2549 .4
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